CE b L AR S R AR HEAE A A A

#8 : BUE R (ATEH L ATFR L F 4a) # |A % | X

— ~ SR B 3B K 3% 1A (national identity ) 2, 4 & £ % (secessionism)
69 B % > B9 38 1L B F & — (national unity) &) # ik - £ B4 AR
Z R BF R ARRRE B R TIR R R B R Ao ?
(25%)

o A EE (political party ) ? g ¥ $e 4] 25 [ ¥ (interest group)#H
T4 B 7 My T two-party systemn Z ¥ » 3B 4 AP 4E 58 45 49 party
system » 3t 3G — fE#R Y party system B —EREH AT - &
MBSO ERABYA -7 (23%)

= RIREEIIc  EEA TR T S R - B
72 BT - (259 )
0 RS ? SRR AR 2 - (25% )
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M B AR R ATFR L IE T )
— ~ 4} B % &R fb(globalization)? 3% 3%, % H2rHLHER BRI
35308 L F £ & & (realists) ~ & & E # & (liberals) - Forb A AHE

#8

sh & (world-system theorists)o 4 % £+ 2L - (25%)
3 7.5 international regimes & 31" international regimes 7 &z 49 R

B ot » 3t 354 & R 48 international regimes #48 F - (25%)

BT TR ) PRI IR B « (25%)
SELEE% 2001 4F T o—— 5 EUTOREE 2003 £F 3 H 35 FOERGH HEER

e 8
Mse B - (25%)
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#E HAEES (&) [AMARARETE Bl 4 s /s

— (TSRS 7 B ERSNR AL 7 B A B 7 S
i o (25 %)

= - (A3 SR BN (development theory) 7 AL — A HE B EURIERF S 55 =
HRBFRAE SR ? AlEh T IR - (25 %)

=« SICBOETST BB SR — AL LU RIEHERBR
g RS, - (30 %)

P9 - ffRALER) (20 %)
(—) interdependence
{Z) international regime
(=) dependency theary
(PH) rational choice
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\ RERERANAES - BRCETEREA Y > #M BREEEY LEPOR
Kb A K FEATRE L 7 C15% ) BRERAITEE CUEMELEEE)) ? (10% )

» F AR E 5 AR —a (2004) : T ERISEIBRBEANENE  BRELKRK
RE PR L (E 2008 AL HUER A REESER MR E A MRS IR
FiEtamiE B o DUREEHIER < (35% )
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fa: 43 68 (RIRAT2,48) SEERE

I. Suppose the aggregate demand and aggregate supply function are given as follows:
Aggregate demand function:  Y=D(, GM) (1)
Aggregate supply function:  Y=8(P) @)

Where D, =8D/8P<0; Dg=0D/8G>0; D, =dD/M >0; S, =88/0P>0

(1) Please derive the government spending muitiplier under the model with both
aggregate demand and supply equations.  (15%)

II. Consider the following economic model

(i) Production function: output depends on the input of efficient labor

Y=Y(), Y, =8Y/0L>0, Y,, =8Y, /A <0, where A=E*N;Eisthe
efficiency of labor, and N is the amount of labor employed.

(ii} Labor Efficiency is an increasing function of real wage
E=B(W/P), E =dE/8(W/P), where W and P are the nominal wage and
“price level, respectively.

(iii) Firm’s Profit is its revenue minus labor cost

(1) Please derive the optimal condition for labor employment (10%)
(2) Please give an economic interpretation for the condition  (10%)

m
Country Ouiput
Units of Wheat Units of Cloth
Homte 1,000 or - 5,000
Foreign 200 or 2,000 |

Please explain the comparative advantage in the production of wheat resides in

domestic or foreign country. And explain why is so. (5%)

V.
Budweiser
Advertise Don’t Advertise
Advertise B: NT$120 B: NT$70
Miller M. NT3$80 M: NT$160
Don’t advertise B: NT$200 B: NT$400
M: NT$50 M: NTS300

Refer to the previous Table. Budweiser and Miller must decide whether to begin
new advertising campaigns promoting their light beers based on the potential profits

shown in the previous table.  Whalt is the equilibrium outcome? (5%)
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Demand schedule Facing a perfectly Price-Discriminating Firm

Price in Dollars 8 7 6 5 4 3 2 1

Quantity 0 | 2 3 4 5 6 7

Demanded

VL, -

Vi

Uy

If marginal cost were constant at NT$3 and the firm were a single-price unregulated
monopoly, then what is the lotal revenue from selling 5 units of output. Please
explain why is so0.  (5%)

Comment critically on John M. Keynes’ argument, “A
monetary economy, we shall find, is essentially one in which
changing views gbout the future are capable of influencing
the quantity of employment and not merely its direction *.
(20%) |

., Why might the political system lead to high tariffs even
though these reduce overall national income? Using this
analysis, explain why the Mainland China imposes high
duties on automobiles but not on liquid gas? (15%)
Between now and 2008, would you expect the government’s

share in the national income to change? Why? What factors

affect your answer? (15%)

(LE=ZgEsmRdrEE) .
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